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מהמערכתהרפתןמקבלבחודשוחודשמדי

.1פלט-וגליונותהעדרספרדףאתהממוחשבת

התחלובותאתלסכםנועדהעדרספרדף

לעדכןמנסה[פלט-ואילוהפרה,שלהחולפות

שלבעיצומההפרהשלמצבהאתהניתןככל

הנוכחית.התחלובה

למה?-מושווהחלב
הקובעיםלהיותאמוריםאשרהמספרים

טלפ-1וגליונותהעדרספרבדףוהחשובים

חמ"מ.קרימחיר,מושווהחלבבק"גמבוטאים

המספריםאתלבטאנהוגהיההרחוקבעבר
חמ"ש.קרי)3.591(,שומןמושווהחלבבק"ג

בלבד,טיפוחימושגהיההחמ"שומושגמאחר

שלהאמיתיתהכלכליתהתרומהאתתאםולא

המושגאתלנטושבזמנוהוחלטליצרן,החלב
אמוראשרבחמ"מלחישובולעבורחמ"ש

החלבשלהכלכליתהתרומהאתנאמנהלבטא

נכוןמושגהואהחמ"מכעיקרוןמרכיביו.על
שלהכלכליתלתרומהשיפוטהמעניקואמיתי

השניםבמרוצתברם,הטיפוח.ופריהפרה

והחלבהשומןעבורהתשלוםשיחסהסתבר
אתניסחוכאשררביםשסברוכפינשמריםאינם

החמ"מ.נוסחת

המטרהמחירהמקוריתהתוכניתפיעל
כאשרשומן3.396שלתכולהעםלחלבמתיחס

0].:1הםחלבק"ג:שומןק"גהתשלוםיחסי
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מכיווןשנית,שומן.3.291שלתכולהעםלחלב
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במחיריםהיחסומצטמצםהולךשבו,השומן
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היחס-יוניעדפברוארחודשי-בתחלובה

שעבוראיפוא,יוצאחזקה.בנפילההואבתשלום
מנוסתתרחוקהתשלוםהחלבמןניכרחלק

השיווקחודשיבדיקתמשמעותי.באופןהחמ"מ

מלמדתהארצי,הממוצעאתהתואםבמשקנו,
שומןעבורליצרןהתשלוםשלהאמיתישהיחס

להביןעלינומכאן7.83:1.שלביחסעומדוחלב
מהמערכתמקבליםאנואותםשהמספרים

במציאותשחרכללהםאיןהממוחשבת,
החמ"מאתנכוחהמבטאיםאינםולכןהכלכלית

לבטא.אמוריםהיואותו

החמ"משלהנוכחיתבנוסחההשימושלכן,

החלטותקבלתשלשלמהשמערכתלכךתורם
שלמצבהמניתוחהחלמוטעיםממספריםניזונה
עתודהפרותבאיתורוכלההבודדתהפרה

פרים.ומבחני

אינםאשרהאחרונהבשנההתשלומיםפיעל
להיותצריךהיההחמ"מעברו,משניםשונים

כדלקמן:מחושב
שומן)]16")0.0783+]0.75ץחלבק"ג

ק"ג12,000המניבהפרהלנוישאםלדוגמה:

היאהתיאורטיתהנוסחהלפישומן,"2.51עם
מניבה:

)0.1"2.5([+]0.67א12,000
חמ"מ.ק"ג04011,=

שונה:התנובההמציאותיהתשלוםפיעל
12,000%0.75[+])2.5%0.0783(
חמ"מ.ק"ג34911,=

הפרהבחלבהשומןשאחוזשככלאיפואברור
שנישביןבשינותהפעריגדלכךנמוך,

שפרותכךעללדברשלאהחישובים,
החלבשיאהרי-בדצמבר-ינוארהממליטות

6.0:1!ל-הקרוביםביחסיםמונבשלהן
מטווחנעלמוחמ"ש,היההמדדכאשרבזמנו,
אשרמצטיינותפרותעשרותשלנוהטיפוח

בנותבעיקרנמוך,שומןאחוזבעלחלבהניבו
רפתניםז"חזיז".ברקן""כגזןמצטייניםפרים

תור""בנותחלבשיאניותזוכריםותיקים

נוסחתבגללעתודהפרותמלשמששנפסלו
נוסחתבזמנוהופעלהשלוספקאיןהחמ"ש.
כעתודות,להיכללפרותאותןזוכותהיוהחמ"מ

העתודות.קואתומקדמיםמעשיריםהיינוובכך
בנוסחתכיוםבדבקותנודעתי,עניותלפי

פרותהרבהעלמדלגיםאנוהתיאורטיתהחמ"מ
נמוכהשומןתכולתבעלחלבעםפריםבנות
הנוסחהפיעלאשרו"איכר",חשמן""כגון

עתודה.כפרותנקלטותהיוהמציאותית
מההיבטואילוהטיפוחי,מההיבטזהכך

הכלכליהמשקלאתלתתיכוליםאיננוהרפתני,

חלבכמויותהמיצרתהבודדתלפרההנכון
משתניםהיחסיםכאשרהשנהבחודשישונות

התזוזותשלאורלינראהלחודש.מחודש
חלבעבורהתשלוםביחסיהתכופיםוהשינויים

הפרשאתידעשהרפתןהראוימןהיהושומן
סובראניהשומן.מהפרשבנפרדהפרהשלהחלב

המופרדים,ההפרשיםבשנימצוידבהיותוכי

התרומהאתטעויותללאלחשבןיוכלהוא
למדיניותבהתאםופרהפרהכלשלהכלכלית
שנתי,בממוצעאוהחודש,באותוהמחירים

במערכותהושקעומיליוניםעיניו.כראות
לקבליוכללאשהרפתןיהיהומגוחךהמחשב
הפרה.שלתרומתהעלאמיתיחשבון
להמשיךהבוקריםציבורירצהזאתבכלאם

שלמטרהבתשלום10:1שלהיחסלפיולטפח
בדו"חותולצייןלהמשיךיהיהניתןשומן,3.3%

חלבהשם:אתלוולתתהמקוריהחמ"מאת
מציעאנילסיכוםחמ"ט.קריטיפוח,מושווה

בנפרדיופיעוהממוחשבתהמערכתשבדיווחי
ימשיךלכךבנוסףשומן.ק"גוהפרשחלבהפרש

מטרתאתהואתואםעודכלהחמ"טלהופיע
הטיפוח.

חזויבהפרשתועלתאין
ההפרשהואהעדרספרבדףהמופיענוסףנתון
הבודדתהפרהשלביצועיםלחזותהנסיוןהחזוי.
שככלמראה,סטטיסטיקהסמךעלבעתיד
החזויההפרשהאכזבה.גדלהכךהציפיהשגדלה

פרותאלפישלסטטיסטיתבדיקהעלבנוי
חייבאינוהואלכןממשק.דודותבעשרות
צורתבכלשלאובוודאיהבודדת,לפרהלהתאים
זוכותשבהםבמשקיםלמשל,ממשק.

כמותתקטןארוכים,יותריובשלימיהמבכירות
גםיקטןמכךכתוצאהכלכלה.ליוםהחלב



leo43חוברת

לתחלובהמבכירהאותהשלהחזויההפרש
ימיהתארכותהפוכה.התמונהבמציאותהבאה.
תנובתהעללטובהמשפיעהמבכירהשליובש

עשויהחזויההפרשכלומר,הבאה.בתחלובה

תחלובתהלהתעבר,שמאחרתפרהלהשתפר.

הפרשועמוקטןהכלכלהשיוםכךמתארכת

החזוי.ההפרששגםומובןהפרה,שלהחלב

שכתוצאהרבותפרותעליודעיםאנובשטח

אתלהעשירהצליחומאוחרתמהתעברות

בתחלובההעליהלמטרתבגופןהרזרוות

ישנהלפרה.מפרהשונהשזהכמובןהעוקבת.

התנודותאתמשפראשרלפרבתשהיאפרה

ביטויאיןלכךגםאךהמאוחרות,בתחלובות

החזוי.בהפרש

ותועלתשימוששאיןומכיווןזאת,כללאור

הפרהכאשרמופיעשהואמשוםחזויבהפרש

הנתוןעללוותרמציעאניביובש,כברנמצאת
הנ"ל.

*

הנהלתבפניהעליתישנהלפנילסיום:והערה

שלבדיווחהפרדהבדברהצעותיאתהעדרספר

התנהללאעניינידיוןשומן.מהפרשחלבהפרש

הודיעלשעברההתאחדותשמזכ"למשום

חודשיםשלושהכללעדכןהתחייבהשתנובה

העובדות10:1.שלביחסהתשלומיםאת
זהמתמשךהסיפוריער.ולאדוביםלאידועות:

גםשימשךלהניחוסבירמשנתיים,למעלה

הצעותי.אתשובמעלהאנילהבא.

בכךעניןלהםשישלחבריםפונהאני
בנפרד,והשומןהחלבהפרשיופיעושבדיווחים

ל8אתי.להתקשרבבקשה


